
Exam No:

GANPAT UNIVERSITY
TECH SENI- tv (CNrL) NEW CBCS REGULAR EXAMINATION- APRIL-JUNE 2016

2CI4O2 SURVEYING

f lME: 3 HRS TOTAL MARKS: 6$

Igstructions: (1) This Question paper has two sections. Attempt each section in separate answer book.

{2) Figures on right indicate marks.
i3) Ile precise and to the point in ansra'ering the descriptive qttestir-rus.

ECTIOIT{: I

Q.1 {A) Dellne: Leveiing. Contour, GTS Bench Mark, i\"{ean sea Lcvel, I-.ine til collimination.

Q.1 {B) l'he lbliorving notes referred to the reciprocal levels taken -'^,'itli cnc lcvel.
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Collimation en.or and (d) wlrether the line of collimation is inclinecl upiviirds or
r ioi i 'nwards 

OR
Give comparison of collimation method arid Rise-Fall rncthorl. (05)
A llage of a ievcl book is sh,rrvn in the loilcrwing. Fill the rnissing reading (X) anri {i}5}
c:rlcuiate the RL of ali points. Apply the tisual checks.
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'fhe 
ftiilor'ving otisets rvere tal:en l}om a cirain line to a hedge at regr.rlar interval

Ol isets  ( rn) :2 .72,3.46,  5 .23,  6 .80,  4 .86,  3 .35,  3 .00,2.50,  1 .60
I)etcrurine the Area included betlveen the chain line ancl the hedge by
(a) )lid-ordinate rule, (b) r\r'erage ortiinate rule and (c) Trapezoiclal rule.
Write a staten'Ient and Equalion Simpsons Rule i.riith Figure
Trvo straights connectcd by 5" (arc based) ourve has its long chord 50 m.
ir:tcrsection angle and its rangent length-

OR
$,/riie a short note on Planiinetcr w.ith neat sketch.
bnlisr the elernents of the curve witli tireir F,quation.
What <jo )/(-lu meiln by constructior: survey?
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What is sounciing? Explain Echo_souncling.
State ttre trapezoiclal ruie. What are rhe consi,lcrations and liinitation of this mle?Calcr-tlate tlie raditrs.cf ?" (cliortl basis) curvL'. And also rralculate intersection angletangent l-ength is 60 m.

SECTION: II

Expiain t.he accessc.rries of plane table in,lerai!.
A closed traverses peRS, in .,vhich the bearing of Sp
has been missecl out in recetrclirrg. fhe rest of'the fielcl
nrissing I)ata.

has not obse.rved and length of eR lffi
record is as foliowing. So Find out
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'l-ire 
iollorvingt lengrlrs.n.1 bcarings .'r.,eic recoriled in runiiiug a Thcoduiite trar,,erse jn ijrrtriltititsr clocklrtise dir*ctiori, the lengili of cD ancl bearing ,rioE iiaving been o*iirterl.

[ii ve dillerence betrve,:n lbl lorvina :
( i l  Lat i tudc unr i  l )cpar l r i rc
i i i l t-'onsec r-rii ve co-.rtr i r rir ics anri Incr ;:-pencren t co -orcii *atcs.:\ it;r"rr sideci h'averse AIlcD, has ihe fblrowing iengths and bearinss:
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"of plane table in cletajl.
tile length CD, so tirat A, D ancl E mav be
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For a ciosed traverse AIICDE
Prepare gales travcrse tabie for
lraverse by takir.rg suitable scale.

the length and trearings of the lines
the traverse. shorving calcuiation for

are given belo'"r'. (0?)
each. Also drariu'
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218.00 N39"08'E
163.22 s10u20'E
195.95
278.53 s32020'W

Q.6 (B) Describe the Repetition method of meusuring horizontalangles.
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